

### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: June 16, 2020

Progress Estimate Number	Contract ID	200221-F01	Pay Period Start	June 2, 2020	Original Contract Amount	\$1,484,074.05
4	Prime Contractor	Parking Lot Maintenance, LLC	Pay Period End	June 15, 2020	Net Change Order Amount	\$0.00
7					<b>Current Contract Amount</b>	\$1,484,074.05

Approval Date		By User
June 16, 2020	Generated and Approved (and should be considered Draft) at the Project Office Level by	schirj1
June 17, 2020	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	morgac1
June 17, 2020	Reviewed and Approved at the Central Office Controllers Office Level by	greggd1

Original Completion Date	<b>Current Completion Date</b>	Actual Completion Date	% of Current Contract Amount Complete
December 1, 2020	December 1, 2020		19.57%

No Milestones Exist for Contract

Contract Total Pag	y For Estimate No. 4			
		This Estimate	Previous	To Date
200221-F01				
	Total Posted Items Pay	\$241,442.25	\$49,010.00	\$290,452.25
	Gross Item Adjustments	(\$630.00)	\$319,616.53	\$318,986.53
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	•		\$368,626.53	\$609,438.78
Contract Total Pay	yable This Estimate:	\$240,812.25		

### Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J6I3341	0030	4136000	PCCP JOINT/CRACK SEALING	LF	\$0.750	263,445	\$197,583.75
	0040 6131010 FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL SQYD \$1,200.000 DEPTH PAVEMENT REPAIR						
	0050	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	SQYD	\$400.000	8	\$3,200.00
	0070	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	LF	\$15.000	78	\$1,170.00
	0080	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	EA	\$100.000	40	\$4,000.00
	0100	6169901	MISC.TEMPORARY TRAFFIC CONTROL	LS	\$20,727.000	0.5	\$10,363.50
	0120	6181000	MOBILIZATION	LS	\$1,500.000	0.75	\$1,125.00
Project J6	6 <mark>13341 - T</mark> c	tal					\$241,442.25
Overall - 1	Total						\$241 442 25

### Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

	,	stments Exist on Contract tments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6I3341	0030	PCCP JOINT/CRACK SEALING	Material			-318,125	\$0.75	(\$238,593.75)
	0030	PCCP JOINT/CRACK SEALING	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0006) due to user schirj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	318,125	\$0.75	\$238,593.75
	0040	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Overrun			-12	\$1,200.00	(\$14,400.00)
	0040	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material			-20	\$1,200.00	(\$24,000.00)

Revision 4/1/2020 Page 1 of 8



### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: June 16, 2020

Progress Estimate Number
4 Contract ID 200221-F01 Pay Period Start June 2, 2020 Original Contract Amount \$1,484,074.05 Pay Period End June 15, 2020 Net Change Order Amount \$0.00 Current Contract Amount \$1,484,074.05

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6l3341	0040	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 7 on the current Payment Estimate.	12	\$1,200.00	\$14,400.00
	0040	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0002) due to user schirj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	20	\$1,200.00	\$24,000.00
	0050	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	Material			-8	\$400.00	(\$3,200.00)
	0050	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0007) due to user schirj1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	8	\$400.00	\$3,200.00
	0070	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	Overrun			-42	\$15.00	(\$630.00)
	0080	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	Overrun			-20	\$100.00	(\$2,000.00)
	0080	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	Material			-40	\$100.00	(\$4,000.00)
	0080	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0004) overridding Payment Estimate Exception 9 on the current Payment Estimate.	20	\$100.00	\$2,000.00
	0080	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0005) due to user schirj1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	40	\$100.00	\$4,000.00
Total								(\$630.00)

Revision 4/1/2020 Page 2 of 8



### Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information										
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work						
J6I3341	I 55-3(98)	Crack sealing and guardrail	I-55	ST LOUIS	from Route 61/67 to Route 141						

Totals by Job Nur	mbers			
J6I3341		This Estimate	Previous	To Date
	osted Item Pay ross Item Adjustments	\$241,442.25 (\$630.00)	\$49,010.00 \$319,616.53	\$290,452.25 \$318,986.53
	Gross Item Pay	\$240,812.25	\$368,626.53	\$609,438.78
Inc	centive	\$0.00	\$0.00	\$0.00
Di	isincentive	\$0.00	\$0.00	\$0.00
Lie	quidated Damages	\$0.00	\$0.00	\$0.00
Ot	ther Contract Adjustments	\$0.00	\$0.00	\$0.00

Revision 4/1/2020 Page 3 of 8



### Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J6l3341, Item 4136000, Project Item Line Number 0030, Material Set 413600096, Material 1057JMHP - Hot Pour Elastic Joint Material @, Acceptance Action Generic 1057JMHP is insufficient.	No Remark was entered by Engineer	schirj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6l3341, Item 6131010, Project Item Line Number 0040, Material Set 613101096, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	No Remark was entered by Engineer	schirj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6l3341, Item 6131012, Project Item Line Number 0050, Material Set 613101296, Material 0200XXCS - Compacted Soil for Subgrade or Embankment, Acceptance Action Generic 0200XXCS is insufficient.	No Remark was entered by Engineer	schirj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6l3341, Item 6131017, Project Item Line Number 0080, Material Set 613101796, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	No Remark was entered by Engineer	schirj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6l3341, Item 6131017, Project Item Line Number 0080, Material Set 613101796, Material 1057JMDAEC6.11 - Dowel Assemblies Epoxy Ctd Gr60 1 1/4" @, Acceptance Action Generic ReinforcingMisc is insufficient.	No Remark was entered by Engineer	schirj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6l3341, Item 6131017, Project Item Line Number 0080, Material Set 613101796, Material 1057JMDBEC6.11 - Dowel Bar Epoxy Ctd Gr60 1 1/4 @, Acceptance Action Generic ReinforcingMisc is insufficient.	No Remark was entered by Engineer	schirj1	Overridden
Estimate Exception Type: Item Overrun: Contract 200221-F01, Contract Project J6l3341, Project Item Line Number 0040, Contract Line Item Number 0040, Item 6131010, Minor Item.	No Remark was entered by Engineer	schirj1	Overridden
Estimate Exception Type: Item Overrun: Contract 200221-F01, Contract Project J6l3341, Project Item Line Number 0070, Contract Line Item Number 0070, Item 6131014, Minor Item.	No Remark was entered by Engineer	schirj1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 200221-F01, Contract Project J6l3341, Project Item Line Number 0080, Contract Line Item Number 0080, Item 6131017, Minor Item.	No Remark was entered by Engineer	schirj1	Overridden

Revision 4/1/2020 Page 4 of 8



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved	Unit Price	Total Value POSTE To Date (See repo generated date)
21-F01	J6I3341	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	Qty 0.00	\$90,000.00	\$0.0
		0001	0020	2153000	SHAPING SLOPES, CLASS III	168.00	0.00	168.00	100F	0.00	\$392.00	\$0.0
		0001	0030	4136000	PCCP JOINT/CRACK SEALING	718,869.00	0.00	718,869.00	LF	318,125.00	\$0.75	\$238,593.7
		0001	0040	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	8.00	0.00	8.00	SQYD	20.00	\$1,200.00	\$24,000.0
		0001	0050	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	8.00	0.00	8.00	SQYD	8.00	\$400.00	\$3,200.0
		0001	0060	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	8.00	0.00	8.00	SQYD	0.00	\$1,200.00	\$0.0
		0001	0070	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	36.00	0.00	36.00	LF	78.00	\$15.00	\$1,170.
		0001	0800	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	20.00	0.00	20.00	EA	40.00	\$100.00	\$4,000.
		0001	0090	6161095	RADAR SPEED ADVISORY SYSTEM	2.00	0.00	2.00	EA	0.00	\$5,000.00	\$0.
		0001	0100	6169901	MISC.TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.50	\$20,727.00	\$10,363
		0001	0110	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN, CONTRACTOR FURNISHED/RETAINED	4.00	0.00	4.00	EA	2.00	\$4,000.00	\$8,000.
		0001	0120	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.75	\$1,500.00	\$1,125
		0001	0130	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	142.00	0.00	142.00	LF	0.00	\$20.00	\$0
		0001	0140	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	27.00	0.00	27.00	EA	0.00	\$300.00	\$0
		0001	0150	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	18.00	0.00	18.00	EA	0.00	\$50.00	\$0
		0001	0160	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	134,264.00	0.00	134,264.00	LF	0.00	\$0.23	\$0
		0001	0170	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	68,989.00	0.00	68,989.00	LF	0.00	\$0.22	\$0
		0001	0180	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	12,973.00	0.00	12,973.00	LF	0.00	\$1.00	\$(
		0001	0190	6206124A	24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	718.00	0.00	718.00	LF	0.00	\$5.00	\$(
		0001	0200	6207001	PAVEMENT MARKING REMOVAL	3,966.00	0.00	3,966.00	LF	0.00	\$1.00	\$(
		0001	0210	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	45.00	0.00	45.00	EA	0.00	\$50.00	\$(
		0001	0220	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$1,500.00	\$
		0010	0230	6061060	MGS GUARDRAIL	11,213.00	0.00	11,213.00	LF	0.00	\$19.00	\$
		0010	0240	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	8,225.00	0.00	8,225.00	LF	0.00	\$23.00	\$
		0010	0250	6061063	MGS GUARDRAIL, 6 FT. POSTS, 3 FT 1.5 IN. SPACING	225.00	0.00	225.00	LF	0.00	\$34.00	\$
		0010	0260	6061068	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	4.00	0.00	4.00	EA	0.00	\$2,900.00	\$
		0010	0270	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	14.00	0.00	14.00	EA	0.00	\$2,800.00	\$
		0010	0280	6061074	MGS HEIGHT AND BLOCK TRANSITION	3.00	0.00	3.00	EA	0.00	\$600.00	\$
		0010	0290	6061080	MGS END ANCHOR	30.00	0.00	30.00	EA	0.00	\$950.00	\$
		0010	0300	6062303	ASYMMETRICAL TRANSITION SECTION, 6.5 FT. POSTS	10.00	0.00	10.00	EA	0.00	\$400.00	\$
		0010	0310	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	37.00	0.00	37.00	EA	0.00	\$2,600.00	\$
		0010	0320	6063016	TYPE B CRASHWORTHY END TERMINAL	2.00	0.00	2.00	EA	0.00	\$5,650.00	\$
		0020	0330	9013003	CONDUIT, 3 IN. RIGID, IN TRENCH	500.00	0.00	500.00	LF	0.00	\$13.12	\$
		0020	0340	9015010	TRENCHING TYPE I	500.00	0.00	500.00	LF	0.00	\$3.75	\$
		0020	0350	9017404	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 6 AWG	500.00	0.00	500.00	LF	0.00	\$4.38	\$
		0020	0360	9017407	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 8 AWG	500.00	0.00	500.00	LF	0.00	\$3.75	\$
		0050	0370	9109903	MISC.MoDOT ITS In-Ground Facility Relocation	1,500.00	0.00	1,500.00	LF	0.00	\$12.50	\$0
	Proiect J	1613341 - To	tal Value	Posted to D	late as of Report Generated Date							\$290,452

Revision 4/1/2020 Page 5 of 8



## Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0030	4136000	PCCP JOINT/CRACK SEALING	6/7/20	6/11/20	27,340.00	LF	Northbound Between Lanes 2&3	40+00	RC	71+50	RC	
			6/8/20	6/15/20	1,500.00	LF	Northbound between 4 and outside shoulder	40+00	RC	25+00	RC	
				6/15/20	25,840.00	LF	Northbound between lanes 4&5 from 141 on ramp to End.	25+00	RC	71+50	RC	
				6/15/20	27,340.00	LF	Northbound between lanes 3&4	40+00	RC	71+50	RC	
			6/10/20	6/15/20	31,419.00	LF	Ramps from 141 to Butler Hill, and outside shoulder to Butler Hill.	36+00	RC	200+00	RC	
			6/11/20	6/15/20	23,994.00	LF	Ramp from Butler Hill and Lane 6 to 270/255 Ramp.	200+00	RC	108+00	RC	
				6/15/20	42,004.00	LF	Ramps 141 On Ramp, Meremac Bottom On and Off Ramp, and Butler Hill Off Ramp. Transverse Joints	40+00	RC	195+00	RC	
			6/14/20	6/15/20	42,004.00	LF	Butler Hill Entrance Ramp and 255 Entrance Ramp. Lanes 3 through 6	185+00	RC	108+40	RC	
			6/15/20	6/16/20	42,004.00	LF	Butler Hill to Lindbergh lanes 3 through 6	230+00	RC	71+50	RC	
0040	6131010	FURN & PLACE CONC MATL FOR FULL DEPTH	6/4/20	6/7/20	8.00	SQYD	Southbound Lane 3	94+75	LC			
				6/7/20	12.00	SQYD	Southbound Lane 2	94+75	LC			
0050	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEM	6/4/20	6/7/20	8.00	SQYD	Southbound Lane 2&3	94+75	LC			
0070	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR	6/4/20	6/7/20	78.00	LF	Southbound 2&3	94+75	LC			
0800	6131017	DOWEL BAR (FURNISH AND INSTALL WITH BASK	6/4/20	6/7/20	20.00	EA	Southbound Lane 2	94+75	LC			
				6/7/20	20.00	EA	Southbound Lane 3	94+75	LC			
0100	6169901	MISC.	6/15/20	6/16/20	0.50	LS	First Partial Payment. Contract 5% complete	42+50	CR	71+50	CR	
0120	6181000	MOBILIZATION	6/15/20	6/16/20	0.25	LS	2nd Partial Payment. Contract 10% Complete	42+50	CR	71+50	CR	
				6/16/20	0.25	LS	3rd Partial Payment. Contract 25% Complete	42+50	CR	71+50	CR	
				6/16/20	0.25	LS	First Partial Payment. Contract 5% Complete	42+50	CR	71+50	CR	

The information below this line are details from Line Item agency views. No Agency View Details Exist

Revision 4/1/2020 Page 6 of 8



### Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
		Туре	Adjustment Type		Date	Ву		
0030	PCCP JOINT/CRACK SEALING	Material		3	Jun 2, 2020	SYSTEM	(\$41,010.00)	
				3	Jun 2, 2020	SYSTEM	\$41,010.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user schirj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				4	Jun 16, 2020	SYSTEM	(\$238,593.75)	
				4	Jun 16, 2020	SYSTEM	\$238,593.75	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user schirj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
	- Total						\$0.00	
	Material - Total						\$0.00	
0030 -							\$0.00	
0040	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material		4	Jun 16, 2020	SYSTEM	(\$24,000.00)	
				4	Jun 16, 2020	SYSTEM	\$24,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user schirj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total					0) (==	\$0.00	
	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Overrun	Overrun	4	Jun 16, 2020	SYSTEM	(\$14,400.00)	
				4	Jun 16, 2020	SYSTEM	\$14,400.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 7 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0040 -	Total						\$0.00	
0050	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	Material		4	Jun 16, 2020	SYSTEM	(\$3,200.00)	
				4	Jun 16, 2020	SYSTEM	\$3,200.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user schirj1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
	- Total						\$0.00	
	Material - Total						\$0.00	
0050 -	Total						\$0.00	
0070	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	Overrun	Overrun	4	Jun 16, 2020	SYSTEM	(\$630.00)	
	Overrun - Total						(\$630.00)	
	Overrun - Total						(\$630.00)	
	·Total						(\$630.00)	
0800	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	Material		4	Jun 16, 2020	SYSTEM	(\$4,000.00)	
				4	Jun 16, 2020	SYSTEM	\$4,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user schirj1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
	- Total						\$0.00	
	Material - Total					0)/2==	\$0.00	
	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT	Overrun	Overrun		Jun 16, 2020	SYSTEM	(\$2,000.00)	
	REPAIR			4	Jun 16, 2020	SYSTEM	\$2,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) overridding Payment Estimate Exception 9 on the current Payment Estimate.
	Overrun - Total						\$0.00	
	Overrun - Total						\$0.00	
0080 -		0 : ::		4	м	0)/07=:	\$0.00	Bound Fallman Mary Add at the second Fallman
0230	MGS GUARDRAIL	Construction Stockpile		1	May 5, 2020	SYSTEM	\$112,802.78	Payment Estimate Item Adjustment generated Stockpile Transaction

Revision 4/1/2020 Page 7 of 8



### Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0230		Construction Stockpile	- Total				\$112,802.78	
	Construction Stockpile - Total						\$112,802.78	
0230 -	Total						\$112,802.78	
0240	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Construction Stockpile		1	May 5, 2020	SYSTEM	\$98,535.50	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$98,535.50	
	Construction Stockpile - Total						\$98,535.50	
0240 -	Total						\$98,535.50	
0250	MGS GUARDRAIL, 6 FT. POSTS, 3 FT 1.5 IN. SPACING	Construction Stockpile		1	May 5, 2020	SYSTEM	\$3,690.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$3,690.00	
	Construction Stockpile - Total						\$3,690.00	
0250 -	Total						\$3,690.00	
0260	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	Construction Stockpile		1	May 5, 2020	SYSTEM	\$6,064.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$6,064.00	
	Construction Stockpile - Total						\$6,064.00	
0260 -	Total						\$6,064.00	
0270	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	Construction Stockpile		1	May 5, 2020	SYSTEM	\$20,552.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$20,552.00	
	Construction Stockpile - Total						\$20,552.00	
0270 -	Total						\$20,552.00	
0280	MGS HEIGHT AND BLOCK TRANSITION	Construction Stockpile		1	May 5, 2020	SYSTEM	\$782.25	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$782.25	
	Construction Stockpile - Total						\$782.25	
0280 -	Total						\$782.25	
0290	MGS END ANCHOR	Construction Stockpile		1	May 5, 2020	SYSTEM	\$15,240.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$15,240.00	
	Construction Stockpile - Total						\$15,240.00	
0290 -	Total						\$15,240.00	
0300	ASYMMETRICAL TRANSITION SECTION, 6.5 FT. POSTS	Construction Stockpile		1	May 5, 2020	SYSTEM	\$1,460.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$1,460.00	
	Construction Stockpile - Total						\$1,460.00	
0300 -	Total						\$1,460.00	
0310	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		1	May 5, 2020	SYSTEM	\$55,352.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$55,352.00	
	Construction Stockpile - Total						\$55,352.00	
0310 -							\$55,352.00	
0320	TYPE B CRASHWORTHY END TERMINAL	Construction Stockpile		1	May 5, 2020	SYSTEM	\$5,138.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$5,138.00	
	Construction Stockpile - Total						\$5,138.00	
0320 -							\$5,138.00	
Overa	II - Total					\$318,986.53		

Revision 4/1/2020 Page 8 of 8